Chapter 4 Functional Relationships
4.1 Broken Line Graphs

Allan landed at Halifax International Airport and took the hotel courtesy bus to his hotel. The graph on page 157 shows the distance of the bus from the airport over time. It also shows that the speed of the bus varied as it traveled along its route. 
Using the graph on p.157, answer the following questions:

a. How long did his trip take in total? 130 min
b. Where did he end up at the end of his travels? The bus ended back at the airport.
c. At what time did he reach hotel? 55 min
d. How long did the bus stay at Allan’s hotel? 5 min
e. How many times did the bus stop in total? 5 times
f. What was the bus’s speed between 125-130 min? 10km/5min = 2km/min
g. When was the bus traveling at the fastest speed? (Hint: Slope = rise/run so km/h)  100-105min
h. Determine the speed of your above answer. (Hint: Slope = rise/run so km/h) 
  37-25   = 2.4 km/min

105-100

i. What is the difference between the positive and negative slopes on this particular graph? Positive slope means going away from the airport & negative slopes means returning to the airport.
j. Describe the bus’s trip. The bus traveled 3 different speeds on the way to the hotel & stopped twice. It stopped upon arrival at the hotel after 55 min. It took longer to return to the airport even though they still stopped only twice.  
